
MATHS

BOOKS - MAXIMUM PUBLICATION

BINOMIAL THEOREM

Example

1. Expand the following. 

Watch Video Solution

(3a2 − 2b)
4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_y9tJr6rjKxc7


2. Expand the following. 

Watch Video Solution

(3 − 4x2)
5

3. Expand the following. 

Watch Video Solution

( − 2y)
6x

2

https://dl.doubtnut.com/l/_y9tJr6rjKxc7
https://dl.doubtnut.com/l/_zUuhNCPdKA67
https://dl.doubtnut.com/l/_Y5hPBefYPLBR


4. Expand the following. 

Watch Video Solution

(x + )
5

1

x

5. Write the general term in the expansion of

the following, 

Watch Video Solution

(x2 − y)
6

https://dl.doubtnut.com/l/_smu6Pox4r6sr
https://dl.doubtnut.com/l/_QAPJ0FDcP0yX


6. Write the general term in the expansion of

the following, 

Watch Video Solution

(x2 − xy)
12

7. Write the general term in the expansion of

the following, 

Watch Video Solution

( − )
5

x

3

1

x

https://dl.doubtnut.com/l/_lgPzAQjRDy35
https://dl.doubtnut.com/l/_Ou2CQc0mfJT3
https://dl.doubtnut.com/l/_XK99XJhXdOsi


8. Write the general term in the expansion of

the following, 

Watch Video Solution

( + 9y)
10x

3

9. If the coefficient of  in the expansion of 

 is 6 then the positive value of n.

Watch Video Solution

x2

(1 + x)
n

https://dl.doubtnut.com/l/_XK99XJhXdOsi
https://dl.doubtnut.com/l/_Rf4SvJ6hQxsI


10. Find the  term in the expansion of 


Watch Video Solution

13th

(9x − )

18
1

3√x

11. Write the middle term in the expansion of

the following, 

Watch Video Solution

(3 − )
7

x3

6

https://dl.doubtnut.com/l/_omUEpTz5wXi6
https://dl.doubtnut.com/l/_pg8iC41uPfbQ
https://dl.doubtnut.com/l/_FD58F8siZO4i


12. Write the middle term in the expansion of

the following, 

Watch Video Solution

(x − )
101

2y

13. Write the middle term in the expansion of

the following, 

Watch Video Solution

(x + )

17
2

√x

https://dl.doubtnut.com/l/_FD58F8siZO4i
https://dl.doubtnut.com/l/_jeoNgS8WY3Bc
https://dl.doubtnut.com/l/_Ot2xx6ghTnFD


14. Find the term independent of x in the

following expansion. 

Watch Video Solution

(x − )
121

x

15. Find the term independent of x in the

following expansion. 

Watch Video Solution

(x2 − )
91

x

https://dl.doubtnut.com/l/_Ot2xx6ghTnFD
https://dl.doubtnut.com/l/_6k2ErORaTe2p
https://dl.doubtnut.com/l/_iIAwQG0e4Abd


16. Find the term independent of x in the

following expansion. 

Watch Video Solution

(√x + )
101

3x2

17. Find the term independent of x in the

following expansion. 

Watch Video Solution

( 3√x + )

18
1

2 3√x

https://dl.doubtnut.com/l/_iIAwQG0e4Abd
https://dl.doubtnut.com/l/_aRSq9D4lxvWE
https://dl.doubtnut.com/l/_VP2gRSqryLrz


18. Find the coefficient of  in the expansion 


of 

Watch Video Solution

x10

(2x2 − )
113

x

19. Find the coefficient of  in the 


expansion of 

Watch Video Solution

a5b7

(a − 2b)
12

https://dl.doubtnut.com/l/_VP2gRSqryLrz
https://dl.doubtnut.com/l/_NukPRoJIVdEB


20. Find the coefficient of 

 in the expansion of 

Watch Video Solution

x11 (x − )
172

x2

21. Find the coefficient of 

 in the expansion of 

Watch Video Solution

x9 (3x2 + )
12

5

x3

https://dl.doubtnut.com/l/_i3bsers1k9HG
https://dl.doubtnut.com/l/_33jl61jNj0cw


22. Find the coefficient of 

 in the expansion of 

Watch Video Solution

x20 (3x3 − )
402

x2

23. Find the term independent of x in the

expansion of 

Watch Video Solution

(x2 + )
6

2

x

https://dl.doubtnut.com/l/_nV63DXaT1vFS
https://dl.doubtnut.com/l/_5mxtewXzxxx4


24. If the middle term in the expansion of

 is independent of x,find the

value of m.

Watch Video Solution

(xm + )
6

2

x

25. Write the general term in the expansion of

Watch Video Solution

( − )
6

3x2

2

1

3x

https://dl.doubtnut.com/l/_AnT8nXHbaBTI
https://dl.doubtnut.com/l/_zQBd7blEUMMg


26. Find the term independent of x in the

expansion of 

Watch Video Solution

( − )
6

3x2

2

1

3x

27. The number of terms in the expansion of

 is……

Watch Video Solution

( + 9y)
10x

3

https://dl.doubtnut.com/l/_Di4AGoval2s8
https://dl.doubtnut.com/l/_hmjq7thSV11S


28. Find the middle term in the expansion of

Watch Video Solution

( + 9y)
10x

3

29. Find the general term in the expansion of

Watch Video Solution

(x + y)n

https://dl.doubtnut.com/l/_JcisgoELdnSd
https://dl.doubtnut.com/l/_DeEJdNNC3elo


30. Find the middle term in the expansion of

Watch Video Solution

(2x + )
18

1

3y

31. Write the general term in the expansion of

Watch Video Solution

(a + b)
12

https://dl.doubtnut.com/l/_XHsljNEAgSZ3
https://dl.doubtnut.com/l/_1FPPx4RqyxPJ


32. Find the  term in the expansion of 


Watch Video Solution

9th

( + )
12

x

2
6

x2

33. Find the general term in the expansion of

Watch Video Solution

(3x2 − )
91

3x

https://dl.doubtnut.com/l/_PWA5aB95NB5R
https://dl.doubtnut.com/l/_Gv1f69rWajSY


34. Find the term independent of x in the 

expansion of 

Watch Video Solution

(3x2 − )
9

1

3x

35. Consider the expansion of  


Find the coefficient of .

Watch Video Solution

(x2 − )
91

3x

x9

https://dl.doubtnut.com/l/_kSB6xvAo9yQc
https://dl.doubtnut.com/l/_RiUN0WKqxLYW


36. Consider the expansion of  


Find the term which is independent of x.

Watch Video Solution

(x2 − )
9

1

3x

37. Consider the expansion of  


The number of terms in the expansion 

is….

A. 2n

B. n+1

( + 9y)
2
n

x

9

https://dl.doubtnut.com/l/_e2AIuSZwU3YL
https://dl.doubtnut.com/l/_DgDVIjBaNlHG


C. 2n+1

D. 2n-1

Answer: C

Watch Video Solution

38. Consider the expansion of  


What is its  term?

Watch Video Solution

( + 9y)
2
n

x

9

(n + 1)th

https://dl.doubtnut.com/l/_DgDVIjBaNlHG
https://dl.doubtnut.com/l/_sKEGiggv5zqG


39. Consider the expansion of  


If ,find its middle term.

Watch Video Solution

( + 9y)
2
n

x

9

n = 5

40. Write the general term in the expansion of

Watch Video Solution

(1 + x)44

https://dl.doubtnut.com/l/_D8QJJKYwqIKj
https://dl.doubtnut.com/l/_TKF51G0qHd9X


41. Write  and  terms in the expansion

of 

Watch Video Solution

21st 22nd

(1 + x)44

42. If  and  terms in the expansion of 

 are equal then find the value of x.

Watch Video Solution

21st 22nd

(1 + x)44

https://dl.doubtnut.com/l/_JycASWYlL1rJ
https://dl.doubtnut.com/l/_8Le3MQxOIdom


43. Find . 


Hence evaluate: 

Watch Video Solution

(x + y)4 − (x − y)4

(√5 + √6)
4

− (√5 − √6)
4

44. How many terms are there in the

expansion of  (n is a positive

integer)?

Watch Video Solution

(1 + x)2
n

https://dl.doubtnut.com/l/_TeVUtVKZeCsf
https://dl.doubtnut.com/l/_4q18YRM4rTMk


45. Show that the middle term in the

 expansion os is 

Watch Video Solution

(1 + x)2
n

2nxn
1.3.5.... . (2n − 1)

n !

46. Find the general term in the expansion of

Watch Video Solution

( − )
10

x

2
2

x

https://dl.doubtnut.com/l/_Hnv1ZbUjnD69
https://dl.doubtnut.com/l/_VTQV6Q7bZ6MQ


47. Find the terms independent of x in the

expansion of .

Watch Video Solution

( − )
10

x

2
2

x

48. Find the number of terms in the expansion

of 

Watch Video Solution

(x − )
14

1

x

https://dl.doubtnut.com/l/_P4CmIT5xq1wR
https://dl.doubtnut.com/l/_bXUaEgPrOUx8


49. Find the general term in the expansion of

Watch Video Solution

(x − )
141

x

50. Find the term independent of x in the

expansion of 

Watch Video Solution

(x − )
141

x

https://dl.doubtnut.com/l/_V01eEMXi70BR
https://dl.doubtnut.com/l/_pZ0Oy8YnXK72


51. Write the number of terms in the

expansion of 

Watch Video Solution

(a − b)2
n

52. Find the general term in the expansion of

,

Watch Video Solution

(x2 − yx)
12
x ≠ 0

https://dl.doubtnut.com/l/_aRgNZyC9Ad0Z
https://dl.doubtnut.com/l/_CBxUF6Zh29y1


53. Find the coefficient of  in the

expansion of 

Watch Video Solution

x6y3

(x + 2y)9

54. Write the expansion of , where n is

any positive integer.

Watch Video Solution

(a + b)n

https://dl.doubtnut.com/l/_1giOPeG2QBKc
https://dl.doubtnut.com/l/_jZ1VBsXeX1Cd


55. Find the value of 'a' if the  term and

 term in the expansion of  are

equal.

Watch Video Solution

17th

18th (2 + a)50

56. The number of term in the expansion of

 is…….

A. n+1

B. n

(x − )
2

n
1

x

https://dl.doubtnut.com/l/_Nvjgfqys3t0u
https://dl.doubtnut.com/l/_MFvCtS40Bt50


C. 2n+1

D. 2n+2

Answer: C

Watch Video Solution

57. Find the value of 'a' if the  term and 

 term in the expansion of  are

equal.

Watch Video Solution

17th

18th (2 + a)50

https://dl.doubtnut.com/l/_MFvCtS40Bt50
https://dl.doubtnut.com/l/_J825k7ICEsyB


58. Number of terms in the expansion of 

 is…..

A. 19

B. 20

C. 21

D. 22

Answer: C

Watch Video Solution

(x + )
20

1

x

https://dl.doubtnut.com/l/_BtyePXwkEa0a
https://dl.doubtnut.com/l/_K1wJbrsw6PP0


59. Consider the expansion of 

find the coefficient of  and the term

independent of x.

Watch Video Solution

(3x2 − )
91

3x

x6

60. The  term in the expression of 

 is ……

A. 

B. 

C. 

8th

(√2 + √3)
7

27√2

27√3

72√2

https://dl.doubtnut.com/l/_K1wJbrsw6PP0
https://dl.doubtnut.com/l/_pAzJkvSCV6Dq


D. 

Answer: B

Watch Video Solution

72√3

61. Find the term independent of x in the

expansion of 

Watch Video Solution

(x + )
18

, x > 0
1

2x

62. Write the expansion of (a + b)
4

https://dl.doubtnut.com/l/_pAzJkvSCV6Dq
https://dl.doubtnut.com/l/_Qx00TxGaBksS
https://dl.doubtnut.com/l/_2IAZiXavaWzC


Watch Video Solution

63. Evaluate: 

Watch Video Solution

(√5 + √6)
4

+ (√5 − √6)
4

64. Consider the expansion of  


The number of terms in the expansion is……

A. 10

B. 9

(x + )
10

1

x

https://dl.doubtnut.com/l/_2IAZiXavaWzC
https://dl.doubtnut.com/l/_xRFtEIUZrFN1
https://dl.doubtnut.com/l/_gkwULFYRiZFA


C. 11

D. 12

Answer: C

Watch Video Solution

65. Consider the expansion of  


Find the term which is independent of x in the

above expansion.

Watch Video Solution

(x + )
10

1

x

https://dl.doubtnut.com/l/_gkwULFYRiZFA
https://dl.doubtnut.com/l/_SWwL0mB3dnA9


66. Write the number of terms in the

expansion of 

Watch Video Solution

(a + b)n

67. Expand 

Watch Video Solution

( + )
5

x

3

1

x

68. Find the general term in the expansion of

.(x2 − y)
6

https://dl.doubtnut.com/l/_My8L974MKF8h
https://dl.doubtnut.com/l/_kmkiVSWQDr7y
https://dl.doubtnut.com/l/_EhhMg3jyKCNO


Watch Video Solution

https://dl.doubtnut.com/l/_EhhMg3jyKCNO

